D=1
LIST[1] = 0x01
DIST[1] = 0x00
LENGTH[1] = 0

LIST[D]&DIST[D] = N LIST[D]=LIST[D]>>1

v~

LENGTH[D]++

IS
LENGTH[D] >

MAX_L
?

N — DIST[D+1]=DIST[D]ILIST[D]
LIST[D]=LIST[D]>>1
LIST[D+1]=LIST[D]I0x01

PRINT
RULER

LENGTH[D+1]=LENGTHID]

D++

MAX_D = Maximal depth of our recursion (e.g. the number of marks we want to set)

To do a OGR-9 search you need to set 8 marks because "0" is always set
EXIT D = Depth of the recursion
LIST[] = the mark locations coded from right to left

DIST][] = the distances measured by the current ruler
LENGTH]J] = the length of the current ruler

Y
l MAX_L = Maximal length of a ruler (e.g. the upper limit)




